EARAROBEEIERT — 2 N— IBISH —F

20129F5A3H () 2mfntE4E

B ===c v5%3mor

‘ (%] ‘ (EmmEl  — | 4 (5) 17000 KB

[~®%] 1 7% :10,000,000 @ ~ 2 7 :3,500,000 @ ~ 3 #&:2,000,000 ™

4 7% 11,000,000 5 & :500,000 M

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= BEEXH :48. —-3-2- . — WRE (iE)
24147 R "3 55.0 1(4_8)1 SRS R 6 f; /JA\E%@ "
R:T7AVHCARRX B:VatT7q4—X e ez
=5 # 3 | EmEHET 1:48.5 2-2-2-1 |41.1| — 1 482 | FEMIEIE (fRfE)
TA4—7 56.0 @ (2) | BT
L:TUHA XTI K B:RKY—LP—> INTF—L
ey t 3 | BlREL 1:49.2 9-10-9-6 |40.2| — 3 480 | EBREZ (fafR)
Ev7Z1 bk * 55.0 @ (+4) #lics
RiyNYTLA—Y BTIRHHAL— KR A
s = FREA : -11-11- — BERE (KH)
Sk X i 3 Bl 1.(439).8 11-11-11-10{ 40.4 7 zzg)e e
R:HrSO—LIb BixAdayaytEs thE4i%
— o3 | WIEFRA 1:50.3 6-6-4-4 |42.5| — 8 480 | EFH= (KH)
5/8[11|/N7 =37 5.0 2172 (o) | FIETEE
L:ZZXHvR B:T7AE—b1— 772 RE
o= . ERREE :51. =i=74 . — FRREE (J1115)
6111 rEJ KST> 4 3 Al 1(541)1 7-7-7-9 | 42.5 1 (4:); %mag
XTIy r8%—F B:h¥s/a/3 LB 415
; 4 3 | mEY 1:51.2 8-8-8-8 |42.5| — 10 | 484 | #BEZ (JI1)
71515 e gg.JO (7E) 1) EARNT
7L FFE2Te BUaNnN K= BHHE
j 43 | WiEE 1:51.3 1-1-1-3 | 44.1| — 4 463 | fE2AAZ (J11IE)
g|gl1o| F=vIIATXE 95.0 (3/4) (-5) | EREER
LYY, IR B4y EID JI Rie
N S = : 44~ - HINES (015
9 2| 1T=>I5vva 4 3 e 1.(521).7 4-4-4-6 | 43.9 5 (A?; ghze (#a1E)
L:TANVRTy Y2 BiAO=T—Y HET7—L4
s =\ = N SHER :52. —4—4- . - HlED (#iE)
1017 9 55 FZE Ry 4 3 Z4 (11512/20) 5-4-4-5 | 44.2 2 (4_623) s
R:7HAFALANE BiU—T4—Iy K HET7— L
# 3 | KHEZ 1:52.8 10-9-9-11 | 43.8| — 9 436 | BEBHER (KH)
17/ 8|YIA-LIX 53.0 @) Ca |EEEHE
L:hAM -2 =X BwRYT 1 —IN— e
@ 1 — S —EBlIEf
13=7r= 10,6,7,2,9,11,1,5,3,8,4
2a=7r= 10,6,7,(2,9),11,1,5,8,3,4
Jol=5r= 10, (6,7),(2,9,11) ,1,5,(3,8) ,4
40—+ — (6,7),10,11,9,(2,3),5,1,4,8
[ N3
H OB 7 1,000 714K 6-7 390M % E 6-6 1,290 3EHE 3-6-7 1,680H
8 B 7 200M &= 620 B 6-6 1,090 K31 7-6-3 10,800M
6 120/ 3-6 330 B E 6-7 1,080
3 170 B H 7-6 2,910M

ABICOVWTRDTEEERROODE. TR LIV,




